

820 First Street, NE, Suite 510, Washington, DC 20002 Tel: 202-408-1080 Fax: 202-408-1056 center@cbpp.org www.cbpp.org

February 17, 2005

## LOCAL EFFECTS OF CUTS IN HOUSING VOUCHER ASSISTANCE IN 2005

## Louisiana

The table shows voucher estimates based in part on data that housing agencies reported to HUD covering the period through July 2004. Individual agencies will have more current data they can use to update the estimates. The funding figures in the column "Voucher renewal funding allocated by HUD" come directly from HUD data. The estimated annual per voucher subsidy cost (PUC) is derived by adjusting the agency's voucher cost data in mid-2004 by the applicable HUD annual adjustment factor. Agencies' actual voucher costs in 2005 may be more or less than the estimate.

The column "number of vouchers cut" is the number of vouchers the appropriations act directs HUD to fund — authorized vouchers in use in May – July 2004 plus any additional vouchers issued to replace other federal housing subsidies that need renewal funding in 2005 — that are unfunded due to the appropriations shortfall. If the estimated "number of vouchers cut" is less than the total number of expiring vouchers not funded, it is likely that the agency was not using all its vouchers in mid-2004. The number of vouchers in use in February 2005 that are not funded may be less than the estimates provided if an agency is using fewer vouchers than in mid-2004 or if the agency's average per unit cost has declined substantially. The number of vouchers in use that are not funded may be more than the estimates provided if the agency's per unit cost is currently greater than the estimate. For some agencies (marked with an asterisk) our estimates include adjustments made in light of HUD's final funding figures, and may be more subject to error.

Agencies may be able to remedy a funding shortfall through use of reserve funds (if accessed quickly) or other policy changes, rather than by reducing the number of families receiving voucher assistance.

							Number		
				Expiring		Annual	of		
		Authorized	N	vouchers		per	expiring	Total	
		vouchers	Number of	eligible for funding	Voucher renewal	voucher subsidy	vouchers funded	expiring vouchers	Vouchers
HUD		in January	expiring	under bill	funding allocated	cost	(based on	not	cut in
Code	Housing Agency name	2005	vouchers	formula	by HUD (HAP)	(PUC)	PUC)	funded	2005
LA165*	"City of New Iberia, La"*	322	322	322	\$996,467	\$3,226	309	-13	-13
LA023	Alexandria	826	826	817	\$3,263,688	\$4,166	783	-43	-33
LA009	Ascension Parish	87	87	84	\$377,046	\$4,698	80	-7	-3
LA215	Assumption Parish HA	108	108	91	\$327,817	\$3,767	87	-21	-4
LA132	Avoyelles Parish Police Jury	119	119	118	\$365,278	\$3,227	113	-6	-5
LA219*	Baton Rouge*	267	267	267	\$1,443,082	\$5,635	256	-11	-11
LA241	Bienville Parish Policy Jury	81	81	70	\$241,890	\$3,585	67	-14	-3
LA024	Bogalusa HA	98	98	91	\$353,711	\$4,038	88	-10	-4
LA190	Bossier Parish Section 8 Housing	641	641	632	\$2,319,996	\$3,827	606	-35	-26
LA136	Broussard	646	646	638	\$1,768,391	\$2,890	612	-34	-26
LA184	Caddo Parish Commission	141	141	136	\$389,964	\$2,982	131	-10	-6
LA172	Calcasieu	536	536	501	\$2,383,307	\$4,956	481	-55	-20
LA125	Caldwell Parish HA	114	114	110	\$356,231	\$3,387	105	-9	-4
	Cathoula Parish Police Jury Sec. 8								
LA222	Housing	66	66	65	\$180,150	\$2,904	62	-4	-3
LA032	Church Point HA	88	88	87	\$209,954	\$2,516	83	-5	-4
LA238	City of Covington	109	109	109	\$535,215	\$5,119	105	-4	-4
	City of St. Martinville Section 8								
LA173	Program	50	50	48	\$235,047	\$5,131	46	-4	-2
	Claiborne Parish Police Jury								
LA246	Section 8 Housing	84	84	83	\$248,338	\$3,132	79	-5	-3
LA122	Colfax HA	50	50	46	\$134,733	\$3,021	45	-5	-2
LA159	Concordia Parish Policy Jury	51	51	51	\$116,853	\$2,389	49	-2	-2
LA029	Crowley HA	365	365	341	\$1,182,253	\$3,615	327	-38	-14
LA114	Delhi HA	40	40	35	\$73,717	\$2,175	34	-6	-1
LA101	Denham Springs HA	120	120	116	\$383,153	\$3,444	111	-9	-5
LA209	DeRidder Community Development	35	35	35	\$110,093	\$3,288	33	-2	-1
LA230	Desoto Parish Policy Jury	212	212	210	\$671,921	\$3,339	201	-11	-9
LA202	Donaldsonville	95	95	88	\$364,851	\$4,339	84	-11	-4
LA003	East Baton Rouge Parish	2,377	2,377	2,328	\$12,620,837	\$5,652	2,233	-144	-95

LA195	East Carroll Parish Police Jury	142	142	141	\$557,161	\$4,120	135	-7	-6
LA182	Evangeline Parish Police Jury	120	120	117	\$361,488	\$3,221	112	-8	-5
LA229	Franklin Parish Policy Jury	13	13	12	\$41,866	\$3,637	12	-1	0
LA097	Grambling HA	150	150	113	\$411,179	\$3,794	108	-42	-5
LA120	Grant Parish HA	113	113	92	\$245,363	\$2,770	89	-24	-4
LA104	Hammond	286	286	283	\$909,563	\$3,347	272	-14	-12
LA189	Iberia Parish Government	226	226	188	\$634,314	\$3,511	181	-45	-8
LA214	Iberville Parish	42	42	33	\$92,115	\$2,940	31	-11	-1
LA099	Independence HA	55	55	55	\$178,845	\$3,411	52	-3	-2
LA248	Jackson Parish Policy Jury	18	18	18	\$47,903	\$2,775	17	-1	-1
LA168	Jeanerette Public Housing	41	41	39	\$111,608	\$2,984	37	-4	-2
LA188	Jefferson Davis Policy Jury Sec. 8	129	129	124	\$452,329	\$3,793	119	-10	-5
LA013	Jefferson Parish	2,667	2,667	2,514	\$12,884,081	\$5,342	2,412	-255	-103
LA012	Kenner HA	572	572	551	\$2,993,642	\$5,668	528	-44	-22
LA206	Kentwood	55	55	54	\$188,750	\$3,622	52	-3	-2
LA247	Kinder	97	97	95	\$262,265	\$2,865	92	-5	-4
LA005	Lafayette	952	952	952	\$4,012,004	\$4,394	913	-39	-39
LA253	Lafourche Parish HA	271	271	183	\$597,691	\$3,413	175	-96	-7
LA004	Lake Charles	1,542	1,542	1,451	\$6,382,401	\$4,587	1,391	-151	-59
LA111	Leesville	56	56	50	\$139,024	\$2,923	48	-8	-2
LA212	Lincoln Parish Policy Jury	135	135	113	\$426,906	\$3,941	108	-27	-5
LA031	Mamou	20	20	19	\$51,276	\$2,788	18	-2	-1
LA037	Minden HA	137	137	130	\$459,280	\$3,674	125	-12	-5
LA006	Monroe HA	1,469	1,469	1,451	\$5,777,013	\$4,151	1,392	-77	-59
LA258	Morehouse Parish Police Jury HA	158	158	139	\$401,586	\$3,012	133	-25	-6
LA221	Morgan City HA	134	134	101	\$279,322	\$2,890	97	-37	-4
LA115	Natchitoches	449	449	413	\$1,166,598	\$2,943	396	-53	-17
LA166	Natchitoches Parish HA	334	334	327	\$1,052,341	\$3,355	314	-20	-13
LA001	New Orleans	10,555	10,190	10,190	\$63,382,456	\$6,485	9,774	-416	-416
LA205	New Roads	42	42	42	\$142,980	\$3,549	40	-2	-2
LA169	Newellton HA	129	129	119	\$324,246	\$2,833	114	-15	-5
LA033	Oakdale HA	120	120	110	\$310,559	\$2,950	105	-15	-4
LA171	Ouachita Parish Plocy Jury	514	514	514	\$2,174,270	\$4,410	493	-21	-21
LA057	Pineville HA	165	165	164	\$573,777	\$3,647	157	-8	-7
LA179*	Plaqumine*	134	134	134	\$331,425	\$2,579	129	-5	-5
LA075	Ponchatoula HA	60	60	59	\$175,526	\$3,102	57	-3	-2

LA199 LA129	Port Allen Rapides Parish HA	138 267	138 267	118 261	\$488,550 \$985,851	\$4,327 \$3,932	113 251	-25 -16	-5 -11
LA174	Rayne	93	93	85	\$207,319	\$2,533	82	-11	-3
LA163	Red River	45	45	45	\$140,942	\$3,265	43	-2	-2
LA232	Ruston Section 8	233	233	223	\$904,958	\$4,225	214	-19	-9
LA074	Sabine Parish	108	108	105	\$309,048	\$3,078	100	-8	-4
LA002	Shreveport HA	3,174	3,174	2,986	\$13,654,626	\$4,767	2,864	-310	-122
LA103	Slidell	304	304	246	\$1,421,331	\$6,016	236	-68	-10
LA178	St Martin Parish Govn't Hsg Dept	341	341	304	\$922,249	\$3,160	292	-49	-12
LA187	St. Bernard Parish Government	280	280	267	\$1,153,320	\$4,509	256	-24	-11
LA094	St. Charles Parish HA	305	305	297	\$1,149,510	\$4,040	285	-20	-12
LA181	St. John the Baptist HA	102	102	89	\$510,164	\$5,955	86	-16	-4
LA067	St. Landry Parish HA	646	640	640	\$1,867,333	\$3,042	614	-26	-26
LA220	St. Mary Parish HA	200	200	197	\$294,168	\$1,554	189	-11	-8
LA063	Sulphur HA	105	105	102	\$396,646	\$4,054	98	-7	-4
LA242	Tallulah HA	55	55	48	\$126,528	\$2,767	46	-9	-2
LA207	Tangipahoa Parish Council	185	185	177	\$673,032	\$3,972	169	-16	-7
	Terrebonne Parish Consolidated								
LA211	Govt.	512	512	492	\$1,990,351	\$4,220	472	-40	-20
LA194	Thibodaux HA	251	251	204	\$693,341	\$3,541	196	-55	-8
LA269	Town of Oberlin	75	75	37	\$89,143	\$2,489	36	-39	-2
LA254	Town of Pearl River	70	70	62	\$276,167	\$4,671	59	-11	-3
LA196	Union Parish Police Jury	101	101	88	\$248,718	\$2,947	84	-17	-4
LA128	Vernon Parish	66	66	66	\$141,121	\$2,229	63	-3	-3
LA192	Ville Platte Section 8	112	112	112	\$328,048	\$3,054	107	-5	-5
LA046	Vinton HA	50	50	48	\$127,019	\$2,778	46	-4	-2
LA217	Washington Parish HA	155	155	155	\$438,539	\$2,950	149	-6	-6
LA213	Webster Parish Police Jury	177	177	166	\$809,372	\$5,074	160	-17	-7
LA204	West Baton Rouge Parish	80	80	78	\$262,340	\$3,506	75	-5	-3
LA233	West Carroll Parish Policy Jury	65	65	61	\$170,032	\$2,906	59	-6	-2
LA186*	West Monroe*	463	463	463	\$1,805,676	\$4,066	444	-19	-19
LA266	White Castle	14	14	14	\$41,419	\$3,084	13	-1	-1
	Winn Parish Police Jury Section 8								
LA257	Program	92	92	89	\$234,983	\$2,760	85	-7	-4
	Total for Louisiana	38,694	38,323	36,935	\$173,048,980		35,427	-2,896	-1,508